| CAT Paper 2087

SECTION-I

This section contains 25 guestions:

Consider the set §=(234.... 2n+1),

where m 15 n positive integer than 2007
Define X as the average of the odd
integers in 5 and ¥ as the average of the
even integers in 5. What 15 the walue of X
-7

a 0
|

1
C. —H

2
4 n+l

n

e, 200%

Ten years ago, the ages of the members of
a joint family of eight people added up to
231 years. Three yvears later, one memhet
died at the age of 60 vears and a child wés
born during the same year. After anegher
three vears, one more member died, agah
a a0, and a child was bom funng the
same yvear. The current average age of this
el ght-member joint familyds nearest to:

a 23 years
b, 22 years
c. 21 years
d. 25 years
g 24 year®

& function iz eatisfies (1) = 3600, and
f1y +R 03 +fin) = n2f(n), for all
pasitiwe wntegers n > 1. what 1z the value of

f{oe

a Nl
by 240
c. 200
d. 100
e 120

Suppose vou have a ourrency, named
Iliso, in three denormnations: 1 Miisa, 10
Misos and 50 Misos In how many ways
can you pay a bill of 107 Misos?

a 17

h. 16

c. 18
d 15
e 19

A confused bank teller transpos@d the
rupees and patse when he cashed'a chegue
for Shalaa, giving her rupees instead of
paise and paise instead of rpees. “After
buving a toffee for A0 paige, “Shalga
noticed that she wagleftwith gractly three
times as much &s the, amount on the
cheque. Which ofthe following 15 a vaid
statement ahout the chieque amount?
a OverfRupees 7hutless than Rupees &
b, CerBupees 22 but less than Rupees
23
c. Qwer Bupees 18 but less than Rupees
14
Cver rupees 4 but less than Rupees 5
Ower Rupees 13 hut less than Rupees
14
How many pars of posihve integers m, n

sat sfy l+i=%, where n 15 an odd

Mo n
integer less than 607
a f
b 4
c. 7
d 5
e 3

Direction for gquestions 7 to 10: Each question
is followed by two statements A and B indicate

your

responses based on the following

directives
if the gquestion can be answered using a alone
but not using E alone.

7.

The average weight of a class of 100
students 15 45 kg The class consists of two
sections, [ and 11, each with 50 students.
The average weight, Wr of Section [ 1s
smaller than the average weight Wy of
Section II. If the heaviest student say
Dreepake, of Section I1 12 moved to Section
I, and the lightest Student, say Poonam, of
Section I 15 moved to Section [L then the
average weights of the two sections are




switched, 1.e, the average weight of

Section [ becomes Wq and that of Section

II hecomes Wi What 12 the weight of

Poonam?

A W -W, =110

B. Moving Deepak from section I to I
{wiathout any more from I to I1) makes
the average weights of the two sections
equal.

a Ifthe question can be answered using a
alone but not using B alone.

h. If the gquestion can he answered using
B alone hut not using A alone.

c. If the question can be answered using
& and B together, but not using either
A or B alone.

d. If the question cannot he answered
even using & and B together.

ABC Corporation 15 required to maintain

at least 400 Kilolitres of water at all times

in its factory, in order to meet safety and
requlatory  requirements.  ABC is
considering the suitability of a spherical
tanls with uniform wall thickness for the

purpose. The outer diameter of the tank 15

10 meters. Is the tank’ capacity adequate

to meet ABC’s requirements?

A The inner dianeter of the tankag at
least & meters.

B. The tank weighs 30,000 (kg Grhen
empty, and 15 made of asmatenal with
density of 3gmice

a Ifthe question can We anEwered using a
alone but not using Bl&lone

h. If the gquestiofiscan he answered using
B alone hufaot Wsing & alone.

c. If the guestion &an be answered using
A and'B together, but not using either
A 9B alone.

d0E the gquestion cannot he answered
evenusing & and B together,

Consider integers x v and z. What 15 the

i imum possible value of 2 +y° + 277

A r+y+z=389

B. Amongx, v, 2 two are equal

a Ifthe question can be answered using a
alone but not using B alone.

b, If the question can be answered using
B alone but notusing A aone.

c. If the question can he answered using
A and B together, hut not using either
A orB alone.

d. If the question cannot be answered
even using & and B together.

10. Rahim plans to draw a square JELL with
a point O on the side JE but is not
successful. Why 1z Rahim unable to draw
the square?

A Thelength of OM 15 twice that of OL.

B. Thelength of OLI is 4 cm.

a Ifthe question can be answered using a
alone hut not using B alone.

b, If the question can be anstered using
B alone but not using 4 alohe.

c. If the question can Fe angweted using
& and B together, Bt notmsing either
& or B alone.

d. If the questioh, canfiot be answered
even using A and Btogether,

DIRECTIONS fof questions 11 to 12: Cities &
and B arefin diffeseiit time zones. A iz located
3000 km eagt of B. The tahle below describes the
schedulenf @ arline operating non-stop fights
hetweeft Alaid B All the times indicated are local
atd onthe'zame day.

Departure Arrival
City Time City  Time
B 8. 00 am A 3.00 pm
A 4. 00 pin B 8:00 pin

Agsume that planes cnuse at the same speed in
hoth directions. However, the effective speed is
influenced by a steady wind blowing from east to
west at 50 km per hour.

11. What 15 the time difference between & and

B?

a 1. hour and 30 minutes

h. 2 hours

c. 2 hours and 30 minutes

d. 1 hour

e, Cannotbe deterrmned
12, What 1z the plane’s cruising speed in km

per hour?

a 700

k. 500

c. 600

d. 500

e, Cannothe deterrmned

DIRECTIONS for questions 13 to 14: Shabnam
1z considening three alternabives to invest her




surplus cash for a week. She wishes to guarantee
mazimum returns on her investment She has
three options, each of which can bhe utilized fully
of partially in conjunction with others.

Option A: Invest in a public sector bank It
promuses areturn of +0.10%.

Option B: Inwvest in mutual funds of ABC Ltd. &
rise i1 the stock market will result in a return of
+5%, while a fall will ental a return of-3%4
{Option C: Invest in mutual funds of CBA Lid A
rise in the stock market wall result in a return of -
2.5%, while a fall will ental a return of +294

13, The maximum guaranteed return  to
Shabnarn 1s
a [0.23%
b, 0.10%
c. 0.20%%
d 0.15%
g 0.30%%

14 What strategy  will  maximize  the
guaranteed return to Shabnam?
a 100%1in option &
h. 36% in option B and 64% 10 option C
o B4% 1n option B and 36% 10 option C
d. 1/31in each of the three options
e 30% in option A 32% in option B and

38% in option C

DIRECTIONS for guestions 15 and 16:%ket 5
be the set of all pairs {1,{) wherefl £1% £nland n” 4.
Any two dishnct members Cof 5 Pare called
“friends” 1f they have ong constitiesit of the pars
in common and “enemues”g otherwise. For
example, 1f n = 4, themng = {(1,2), (1,3, (1.4),
(2,30, (2,40, (3,40 Here, (1,2) and (1,3) are
friends (1,2 and (2,3) e aso friends but (1,4)

and (2,3} are encfues,

15. Forogeneral n, how many enemies will
eachunemnber of 5 have?

ay m—3
1
h. E(HE—EH—E)
c. 2n-7
d. %(H2—5H+ﬁ)

E. %(mj T+ 14)

16, For general n, consider any two members
of 5 that are fnends. How tmany other
temhbers of 3 will he common friends of
hoth these members?

a é(?ﬂg —5?3+E)

b, 2m-1
1
c. —2la-3
2 j
d n-2
1

e, E(Pzg T+ lﬁ)

17. In a tournament, thee ae o terms
5T, with ##57 Eatheterm consists
of k players & » 3The foll owing pairs of
tearmns have one playerin common:

T, & T,E &, ®T,, & T, and T, &
7. Hepothier pair of teams has any player
in (common. How many players are

partitipating in the tournament considering
allthen terms together?

a nl[k—l)
h. k[ﬂ—l)
. m[k—zj

d. kl[.i‘?— 2)

£ [ﬂ— lj[k—l)

18, Consider four digit numbers for which the
first two digits are equal and the last two
digits are also equal How tnany such
tunb ers are perfect squares?

a

[ =T I~
— O fa [ L

Directions for guestions 19 to 20: Mr. David
matmifactures and sells a single product at a fized
price in a niche matket The selling price of each
unit 1z Rs. 30, Cn the other hand, the cost, in

rupees, of producing = units iz 240+ &% +ex°,
where b and ¢ are some constants. Mr. Dawd
noticed that doubling the daly production from 20
to 40 units increases the daly production cost by

ﬁﬁg%.
3

However, an increase in daly production from 40
to A0 units results 1n an increase of only 50% 1n




the daly production cost. Assume that demand 15
unlitnited and that Mr. David can sell as much as
he can produce. His objective 18 to masmize the
profit.

19. How tany units should Mr Dawvid
produce daly?

a 130

b. 100

c. 70

d. 130
e. Cannot be determined

200 What i1z the mammum daly profit, in
tupees, that Mr. David can realize from his
husiness?
a 620
h. 920
c. &40
d. 760
e, Cannot be deterrmined

21, The price of Daneceling tea {in rupees per
lalogram) 13 100+0. 100, on the nth day of
2007 (n= 1,273 .100) and then remainz
constant. On the other hand, the price of
Ooty tea (in tupees per lalogram) is
83+40.15n, on the nth day of 2007 (n =
1,2...365). on which date 1n 2007 wll be
prices of these two wvaneties of gE@ghbe
erual?

a May il

b, Apnl 11

c. Mlay 20

d. Apnl 10

g June 30

22 Two circles with centerseP and O cut each
other at two digithef points & and B, The
drcles hagethe same radi and neither P
nor Qefallsiwithin the intersection of the
crcles \What, 15 the smallest range that
iffeludes all posahle values of the angle
L 0P in degrees?
a ‘Eetween 0 and 90
by Between 0 and 30
t. Between 0 and 60
d. Between 0 and 75
e. Between 0 and 45

23 A guadratic  fonction  f(x)  attains A
mazitmin of 3 at x = 1. The value of the
function at = = 015 1. What 13 the value of
fxyatz=107
a -1189
h. —159

c. —110
d —180
e, —105%

Directions for question 24 to 25: Let ;= p» and
by =g, where p and q are positive quanfities
Define @, = ph,_ &=gh, for even n > 1, and

@, = pd, b, =g,y foroddn = 1

24 Which of the following hest describes
a, + & for evenn?

a g I[pq)%”'l (2+g)

1
b @ (p+q)
1
¢ 47 (f+a)
1 1
d (g7 (p+ 37

Mé'_'

1
—n-1
eN2 L Pe)T (pra)
25 If o/ = 1/3 and g = 2/3, then what is the
smallest odd n such that @, + &, <0017

a 7
h. 13
c. 11
d 9
e 15

SECTION-II

Thiz seetion contains 28 guesidons

Directions for gquestions 26 to 29: Answer the
followang questions based on the information
given helow:

& hedth-dnnk company’s E&D department is
trving to tmake various diet formulations, which
cah be used for cettain specific purposes. It is
considening a choice of 5 alternative ingredients
(0, P 0, B and 3), which can e used in different
proportions in the formulations The table hel ow
gives the composition of these ingredients. The
cost per unit of each of these ingredients k& O 150,
F: 50, (Q: 200, B 500, 5 100,

| In gredient |

Composition




Carbo | Protein | Fat % | Minerals
Hydrate | %o %a
a
o] a0 3l 10 10
P all 20 0 0
Q) 10 k]I 50 10
) 45 ]l 0 5
26 For a recuperating patient, the doctor
recommended a diet contaning  10%
tinerals and at least 30% protein. In how
many different ways can we prepare this
diet by mizing at least two ingredients?
a One
b, Two
c. Three four
d. Mone
27 Which among the following 1z the
formulati on having the lowest cost per umt
for a dieth av-1ng 10% fat and at least 30%
protein? The diet has to bhe formed hy
mizxing two ingredients.
a Pand)
b. Pand S
t. PandFR
d Qand 5
e. Rand 5
28 In what proportion P, O and 5 shoul dhe
mixed to make a diet having atleast 60%
carbohydrate at the lowest pesunit cost?
a 2:11:3
b 4:1:2
c. Z:1:4
d. 3:1:2
e 4:1:1
29 The comp@ny 9 planmng to launch a

halanced diet reguired for growth needs of
adolesgefb children. This diet must contain
atdTeast\30% each of carhohydrate and
protein, A0 more than 25% faf and at least
%, minerals. Which one of the following
sombinations of equally mixzed ingredients
1% feasible?

a Cand P
h. Rand &
.. Pand 3
d Qand B
e, Dand &

DIRECTIONS for questions 30 to 33: Each
question 15 followed by two statements, & and B
Angwer each guestion using the following
instractions:

30,

3l

3z

In aparticular school, sixty students v, ere

athletez. Ten among them were alzo

among the top academic performers. How
tnany top academic performers were in the
school?

A Bixty per cent of the toff Gsademic
performers were not athl ebes.

B. All the top academid pegformiers were
no: necessanly athl efes.

a If the gquestiofi can HesfEnswered by
uzing the statetient & alone but not hy
uzing the statemetib® alone.

b, If thgfquestiony can be answered by
using thé statement B alone hut not by
sing thestatement 4 alone.

c. Uf thel question can be answered b=
usingeither of the statements alone.

d. Ifrthe guestion can bhe answered hy
using hoth the statements together but
not hy either ofthe statements alone.

e. If the question cannot be answered on
the basis Of the two statements.

Five students Atnl, Bala Chetan. Dev and

Ernestn  were the only ones  whao

participated in a quz contest. They were

ranked based on their scores in the contest.

Dev got a higher rank as compared to

Chetan. Chetan’s rank was lower than the

median. Who among the five got the

highest rank?

A At was the last rank holder.

B  Bala was not among the top two rank
holders.

a If the guestion can be answered by
using the statement & alone but not by
using the statement B alone.

h. If the guestion can he answered by
using the statement B alone but not hy
using the staternent & alone.

c. If the guestion can be answered b=
using either of the statements alone.

d. If the guestion can be answered by
using both the staterments together but
not by either ofthe staternents alone

e If the question cannot be answered on
the basis Of the two statements.

Thitty percent of the emplovees of a call

centre are males. Ten percent of the female




33

emplovees have an EnginEering

hackground. What 15 the percentage of

male  employees  wath  enginesnng
hackground ¢

& Twenty five per cent of the employees
have engineering background.

B Mumber of mae employees having an
engineering backoround 15 20%% more
than the number of female employees
having an engineering background.

a If the question can be answered hy
using the statement A alone but not hy
using the staternent B alone.

b. If the queston can be answered by
using the statement B alone but not by
using the statement & alone.

c. If the question can he answered h>
using either of the statements alone.

d. If the gquestion can be answered hy
using hoth the statements together hut
not by either of the statements alone.

e. If the question cannot be answered on
the basizs Of the two statements.

In a foothall match at the half-time,

Mahindra and Mshindra Club was trailing

by thtee goals. Did it win the match?

& In the second-half Malundra and
Mahindra Club scored four goals.

B. The opponent scored four goald indhe
tnatch.

a If the gqueston can beganswered by
using the statement A alone hutnot by
using the staternent B alane.

b, If the question cangbe amswered by
using the statdnent B alone but not by
using the statement £alone.

c. If the guestiorsgan he answered he
using eithekofthe statements alone.

d. IfGhe gquestion can be answered by
wsing both the statements together but
nothgetther of the statements alone.

g JE the question cannot he answered on
the basiz Of the two statements.

DIRECTIONS for questions 3 to 37 Answer

the following questions based on the information

given helow:

The followang tahle shows the breal-up of actual

costs incurred by a company in last five years
(year 2002 to yvear 2006) to produce a particular

nroduct:

T olume of | 1000 | 200 1o j 1200 | 1200

production ad

sale  (Units)

Costs (Fs)

Ilatetial 50000 | 45100 | 55200 | 590900 | 40000
Labouy 20000 | 12000 | 22100 | 24150 | 24000
Coneunables | 2000 [ 2300 | 1800 ] 1600 | 1400
Rent of | 1000 | 1000 | 1100 | 1100 | 1200
tnailditg

Rates atd | 400 400 400 400 400
taxes

Repar and | 300 320 720 o0 =00
maintenatice
EEn s

Oper ating 30000 | 27000 | 33500 §3a020 | 38000
coast of
machities

Selling  and [ 5750 | 5800, | 58@0 | 5750 | 5800
matketing
EXpIenEE s

Vear | Vear Tear Vet ¥ea
2002 | 2003 | 2004 ) 2005 ) 2004

4. Whatis the approxmmate cost per unit in
rupkes, if the company produces and sells
14 0M0unitsin the year 20077

a ol 04
h. 07
co 110
d 115
e 114
35 What 13 the minmum number of units that

the company needs to produce and zell to
avord any loss?

a 313
h. 350
co 384
d 747
e 928

36, If the company reduces the price by 5%, it
can produce and sell as many units as it
desires. How many units the company
should produce to mammize its profit?

a 1400
b, 1600
c. 1300
d. 1900
e 2000
K Civen that the company cannot sell more

than 1700 umts, and i1t wall have to reduce
the price by Bz 5 for dl units, 1f it wants
to sell more than 1400 units, what 15 the
mazitmum  profit, 1 rupees, that  the
Ccofnpany can earn?

a 25400

b. 24400




e 31,400
d. 32,900
g 32,000

DIRECTIONS for questions 38 to 41: Answer
the following questions based on the information
aiven helow:

The proportion of male students and  the
proportion of wegetarian students 1n a school are
given helow. The school has a total of 800
students, 30% of whom are in the Secondary
Section and rest equally divided between class 11
and 12,

c. Ezcept vegetanan females, all other
groups haves same number of students.

d. Except non-wvegetarian females, all
other groups have same number of
students.

e All ofthe shove groups have the same
number of students.

DIRECTIONS for questions 42 to 45 _Answer
the following questions based on the informaton
given helow:

The Tahle shows the comparative costs, @ US
Dollars, of maor surgeries i A0S 8 andya select

Iale (W) | Vegetarian (V) few Asian countries.
Class 12 0.a0 Procedure Comparatife  Costain US4 and
Masz 11 0ss 0.s0 SOLLL E Hmancnmmes(inUS Dl:l]lﬂrgj
Heatt Bypass | 130000 | 100005614000 | 18500 ] 2000
mecotdary 0.55
Soction Heart Valve | 16000035000 | 10000 | 12500 | 9000
Replacement
Tatal 0475 0.53 imgioplasty 157000 | L3000 | 13000 | 13000° | L1000
_ _ Hip 43000719000 | 12000 | 12000 | 10000
3%, What 1z the percentage of wvegetanan Replacement
students 1 Class 127 Hystefectogny | 20000 | 3000 | 4500 | &000 3000
a 40 Eiee 40000 | 3000 | 10000 | 13000 | 2000
vy Fleplacem end
I spdia Fuston | 62000 ] 5300 | 7000 | 2000 G000
d. 55 : .
- The eguivalent of US Dollar in the local
E.

EL In Class 12, twenty five per cent of the
vegetarians are male. What 150 the
difference between the nurmibef ofufamal e
vegetarians and male noprégetarians?

a Lessthan &
h. 10
c. 12
d 14
e, lé

40. What ¢éathepercentage of mate students in
the.second s section?
aodn
Ty, 45
o S0
g 55
g 60
41. In the Secondary Section, 50% of the
students are vegetarian tmales Which of
the following statements is correct?
a Ezxcept vegetanian males, all other
groups have same number of students.
b, Ezcept non-vegetarian males, all other
groups have same number of students.

currencies 15 mven bel ow:

1 113 Daollar equivalent
India 40,928 Fupees
Malaysia 3.51 Ringits
Thailand 3289 BEaths
Singapore | 1.53 2 Dollars

& consulting firm found that the guality of the
hedlth services were not the same in all the
countries ahowe. & poor guality of a surgery may
have sgnificant repercussions in future, resulting
i more cost in correcting mistakes. The cost of
poor quality of surgery 15 given in the tabhle hel owe

Procedhre Comparative cost of poor qualityin TT54 and
soft e Saian courtries
13 | Ind | Thalan | Singapor | Wial aysl
& a i & a
Heart o 3 3 2 4
Bvpass
Heart Walwve | 0 5 4 5 5
Replacemien
1
Angoplasty | 0 5 5 4 é
Hip o 7 5 5 g
Replacetien
1
Hiyrsterecto 0 3 fi 3 4
my




Eree 0 o & 4 4
Replacemen
1
Sirual n 5 f 5 f
Fusion
42, A US citizen 15 hurt in an accdent and
requires an angioplasty, hip replacement
and a knee replacetnent. Cost of foreign
travel and stay 15 not a consideration since
the government will take care of 1t Which
country wll result in the cheapest package,
taking cost of poor quality into account?
a India
b, Thaland
c. Malaysia
d. Singapore
e USA
43, Taling the cost of poor quality into
account, which country'countries will he
tnost expensive for knee replacement?
a India
b. Thailand
c. Malaysia
d. Singapore
e. Indiaand Singapore
44 Apprommately, what difference in amoust
in Bahts will 1t make to a Tha citizen (f
she were to get a hysterectomy done in
India instead of in her native coudntry,
talang into account the cost) of “podr
quality? It costs 7500 Bahts for offesway
travel between Thalandé@End Tndia
a 23500
h. 40500
c. 57500
d. 67500
e. 75000
45 The ripee value increases to Bz 35 for a

ISakollar, and all other things including
quality, Steman the same What 15 the
approzitnate difference in cost, 1n U3
Dollars, between Singapore and India for a
Spinal Fusion, talang this change into
account?
a 700
2500
4500
a0oo

h
C.
d.
e. Mo difference

DIRECTIONS for questions 46 to S0 Answer
the following questions based on the information
given helow:

& low-cost airline company connects ten India
cties, & to J. The table below gives the distance
between a par of arports and the corresponding
price charged by the company. Trawvel 15 penmitted
only from a departure asirport to an arnival airport.
The customers do not travel by aroute where they
have to stop at more than two intefriediate

arports.

Sector Adrport Airport | Distatice | Prce
Mo, of of hetieen )| (Ra)
Departure | Amiwal | the

Airports
(Jetrt)
1 A B 560 70
2 A o 790 1350
3 A D 250 1350
4 A E 1245 1600
5 £ F 1345 1700
fi pal & 1350 2450
7 A H 19510 1850
& B o 1650 2000
4 B H 1750 1900
] B [ 2100 2450
11 B J 2300 2275
13 C D 4610 450
13 & F 410 430
14 [ & 910 110a
15 D E 540 590
16 D F 25 7oa
17 D r 40 750
18 D H 950 1350
19 D J 1650 2450
20 E F 1250 1700
21 E & 970 1150
2 E H 250 875
23 F & a00 1050
p F [ 875 950
25 F J 970 1150
26 > [ 510 550
& 5 J 530 590
28 H [ 790 870
20 H J 400 415
30 I J 440 5410
44, What 1z the lowest price, in tupees a

passenger has to pay for traveling by the
shortest route from A to J?

a 2275
b 2850
c. 2550




d. 2930
e 3340

47 The company plans to introduce a direct
flight between 4 and J The tnarket
research results indicate that all 1ts existing
passengers traveling hetween & and T will
uge this direct flight if it iz priced 3%
below the minirmum price that they pay a
present. What should the company charge
approzimately, in rupees, for this direct

flight?
a 1991
b 2161
¢ 2707
d. 2745
e, 2783

45 If the arports C.D and H are clozed down
owing to security reasons, what would he
the minitmumn price, in fupees, to he paid
by apassenger traveling from & to J?

a 2475
b, 2615
o 2850
d. 2945
g 3180
49, If the prices include a margin of 10% ovey

the total cost that the company incuts,
what 15 the minimum cost per kal affigter
that the company incurs in fying Erofl &

to J7?

a 0.7
h. 0.88
o 0.99
d. 1.06
g 1.08

500 If the price include amargin of 15% over
the total (coet, that the company incurs,
which amofig the'following 15 the distance
to he covered in flying from & to J tha
riinitiazes the total cost per kilometer for
the Gompany?

a 2rrn
by 2180
o 2315
d. 2350
e. 2390

SECTION-III

DIRECTIONS for questions 51 to 53: The
passage given below 1z followed by a set of three
gquestions. Choose the most appropr ate answer to
each gquestion.

Humnan biology does nothing to structure human
society. Age may enfeeble us all, but cultures vary
considershly in the prestge and power they
accord to the eldetly. Giwing hirth 12 a necessary
condition for heing a mother, hut it 1z not
mfficient. We expect mothers to behawe in
maternal ways and to display afpropriately
maternal senhments. We prescribéla cluteh of
notms or rules that govern the g@le, ofa mother.
That the social role 12 independent of the
hinlogical hase can he demongtrated by going
hack three sentences. Giving high 12 certainly not
mfficient to he a mothergbuts as adoption and
fostering show, it gt even necessary!

The fine detal of whatis expected of a mother or
a father or_agdutiful son differs from culture to
culture, Wit evergwhere behawiour 13 coordinated
by thegtecifgocal nature of roles. Hushands and
wives, patents and children, employees, waters
aftd customers, teachers and pupils, warlords and
foll owers each makes sense only in its relation to
the ther. The term ‘role” iz an appropriate one,
hesauze the metaphor of an actor in a play neatly
expresses the rule-gowerned nature or scripted
nature of much of social life and the sense that
society nature of much of social life and the sense
that society 15 a joint production. Social life occurs
only hecanse people play thetr parts { and that 1z
as true for war and conflicts as forpeace and love)
and those parts makes sense only in the context of
the owerall show The drama metaphor also
reminds us of the artistic license avalable to the
players. We can play a part straight or, as the
following from JP. Sartre conveys, we can ham it
up.

Let us consider this water in the café His
movement 15 gquck and forward, a little too
precise, a little too rapid. He comes towards the
patrons with a step a little too gquick. He hends
forward a little too eagerly; hiz woice, his eyes
express an interest a little too solicitous for the
order of the customer. Finaly there he returns,
trying to imitate in his walk the inflexzible shffness
of some kind of automation while carrying s
tray with the recklessness of a tightrope-walker
.. Al his hehaviour seems to s a game .. But
what 15 he playing? We need not watch before we
can explain it he is playing a being a waiter in a
caff.




The Amencan socologst Ermng Goffiman bualt
an influenttal bhody of socal  analysiz on
glahorations of the metaphor of social life as
drama. Pethaps his most telling point was that it 12
only through acting out a part that we express
character. It 15 not enough to be evil or wirtuous;
we have to bee seen to be ew1l or wirtuous,

There 12 distinction hetween the roles we play and
some underlying self Here we might note that
some roles are more ahsorhing than others. We
would not be surprised by the waitress who plays
the par! M such a way as to single to us that sheis
tmuch more than her occupation. We would he
surprigsed and offended by the father who played
hiz patt tongue in check’. Some roles arc broader
and tore far-reaching than others. Describing
someone as clergyman or fath heder would say
far tnore sbout that person than describing
someone as a bus driver,

51, What iz the thematic highlight of this
passage?

a In the shsence of strong hiologica
litkages, reciprocal roles provide the
tnechanstn for coordinating human
hehawour.

h. In the shsence of reciprocal roles
hinlogical “linkages prowide  the
tnechanistn for coordinating  Jdiurdan
bhehawour.

t. Human behaviour is independens of
hinlogical linkages and “teeproca
roles.

d. Human  behavioug o defiends on
biological linkages and reciproca
roles.

e. Reciprocalriles \determine normative
humanthehawourin society.

52, Whicheof the following would have been
true 1§ “baological linkages structured
hiran,soici ety ?

a The role of mother would have been
defined  through  her  reciproca
relationship with her children

h. Wewould nothave heen offered by the
father playing hiz rile tongue in cheek’.

c. Women would have adopted and
fostered cluldren rather than giving
birth to them.

d Ewen if warlords were physically
weaker than their followers, they
would still dominate them.

e, Waters  would  have  stronger
motivation to serve their customers.

53 It has heen claitned in the passage that
“some toles are tore absorbing than
otherd”. According to the passage, which
of the following seem (5 appropriate
reason (3) for such a daim?

A Bome roles carry great expectations
from  the society  preventing
manifestation ofthe true self

B Society ascribes so muchfimportanee
to some roles that the conception of
self may get aligne@ waith “the roles
heing performed.

C. Some roles géquire dewlopment of
skill and expestize Baving little time
for toar festationiafeelf

a A only
h. B onlg
c. A only
d & LB
en B &

DIRECTIONS for questiosS4-56: In  each
gquestion, there are five sentences or parts of
séntences that form a paragraph Identify the
sentence(s) or part(s) of sentence(s) that isfare
cotrect in terms of grammar and usage. Then,
choose the most appropriate option.

54 1. When I returned to home [ hegan to
read
2. Ewerything I could get my hand on
ahout Israel.

3. That same yvear Isracl’s Jewish Agency
sent

4 A Bhaliach a sort of recruter to
Iinneapolis.

5 I hecame one of his most active
devotees.

a C&E

h. C only

c. Eonly

d BC&E

e CD&EE

1. 50 once an economy is actualy in
recession

2. The authorities can, in principle most
the economy

3. Out of slutmp assuming hypothetically

4. That they know how to-hy a temporary
stimuli.

55




It 15 sometimes told that democratic

government onginated in the city-

states

3. Of ancient Greece. Democratic ideals
hawe been handed to us from that time.

4. In truth, however, this 15 an unhelpful
assertion,

5. The Gresks gave us the word, hence

did not provide us with amodel.

56,

R L - N T

a AB&D
b, B, C&D
. B&D

d B only
e. Donly

DIRECTIONS for gquestions 57-39: The passage
gven below 1z followed by a szet of three
gquestions. Choose the most appropriate answer to
each question.

Ewery ovwilized socety lives and thrves on a
silent hut profound agreement as to what 15 to hé
accepted as the walid rmould of expenience
Civilization 1z a complex system of dams @vies,
and canals warding off, directing, and aticuléting
the influx of the surrounding fluid elementda
fertile fenland, elshorately draned and eatected
from the high tides of chaoticgunexercised, and
inarticulate experience. In such & oulture, stahle
and sure of itself within thegfrontiers of
‘naturalized” experience \the _arts wield ther
creative power not so tAuchin width as in depth.
They do not create,new experience, but deepen
and purify the oldTheis works do not differ from
one another lilfe, & new horizon from a new
horzon, bubliliea madonna from amadonna

The penods, of%art which are most wigorous in
creative “passion  seetn to ocour when  the
estabilished pattern of experience loosens itz
rigidity wathout as et losing its force Such a
period was the Renassance, and Shakespeare “its
poetic consutnmation. Then it was as though the
discipline of the old order gave depth to the
excitemnent of the breaoing away, the depth of job
and tragedy, of incomparable conguests arid
irredeemahle losses. Adwventurers of expenence
set out as though in lifehoats to rescue and bring
hack to the shotre treasures of knowing and feeling
which the old order had left floating on the lugh

seas. The works of the eatly Renassance and the
poetry  of  Shakespeare  wibrate  with  the
compassion for live experience in danger of dying
from exposure and neglect In thiz compassion
was the creative genius of the age Vet, it was a
gerius of courage, not of desperate audacity. For,
however elusively, it stll knew of harbours and
anchors ofhomes to which to return, and of barns
in which to store the harvest The exploring spint
of art was in the depths of its conscousfess, still
awate of a scheme of things into whidh to fitits
exploits and creations.

But the more this scheme ofsflingsylozes its
stahility, the tnore bhoundlegs and) uncharted
appears the ocean of potential efploration. In the
hlank confusion of infinite potentialities flotsam
of significance getz affached to  jetsam  of
experience; for evemghing 15 sea, everything 1z at
sea—

...... The seads allfabout us;

The seaizfthe land's edge also, the granite

Into wiash seaches, the beaches where 1t tosses
Its Hintsfof earlier and other creation. . And Rilke
tells algtory 1o which, as in T.5. Eliot’s poen, 1t is
agan the sea and the distance of ‘other creation’
that ‘becomes the image of the poet’s reality. &
rowing hoast sets out on a difficult passage. The
narsmen lahour in exact thythm. There 1 no sign
vet of the destination. Suddenly a man, seemingly
idle, breals out into song. And if the labour of the
narstnen meamnglessly defeats the real resistance
of the real waves it 15 the 1dle single who
magically congquers the despar of apparent
amlessness. While the people next to him try to
come to grips with the element that 1z next to
thetn, hiz woice seems to bind the boat to the
farthest distance so that the farthest distance draws
it towards itself I don’t khow why and how, is
Filke's concusion, ‘but suddenly [ understood the
situation of the poet, hiz place and function 1n this
age. It does not matter if one denies him every

place — except this one. There one must tolerate
hitn

57 In the passage, the expression “like a

IMadonna from a Madonna™ alludes to

a The difference ansing as  a
consequence of artistic license.

h. The difference between two arhstic
interpretations.

c. The different between “life’ and
‘interpretation of1ife’




d. The difference between ‘wadth’ and
‘depth” of creative power.

e. The difference hetween the legendary
character and the modern day singer.

58 The sea and “other creation’ leads Rilke to

a Define the place of the poet in his
culture.

b. Reflect on the role of the varsman and
the singer.

c. Muse of artistc labour and itz
atmlessness.

d. Understand the elements that one has
to deal with

e. Delve into natural experience and real
waves.

58 According to the passage the term

“adwventures of expenience” refers to

a Poets and artists who are driven hy
courage.

b. Poets and artists who create their own
JENTE.

c. Poets and artists ofthe Fenassance.

d. Poets and artists who revitalize and
enrich the past for us.

e. Poets and artists who delve in flotzam
and jetsatn in sea.

DIRECTIONS for questions 60 to 62: Eaghyof
the following guestions has a paragraph ffom
which the last sentence has been deleted) Froga the
given opfions, choose the sentence thabtatpletes
the paragraph in the most appropedse way.

fill. Characters are also part of deep structure.

Chatracters tie events in a story together
and provide @%hread of continuity and
meaning. Ston eg catitbe about individuals,
groups, projectsy or whole organizations,
so froftm, Van  organizational  studies
pefepective, the foca actor(z) determine
thelevelland vt of analysis used in a
shudw, Stories of mergers and acquisitions,
for example, are commonplace. In these
ston ez whole organizations are personified
as actors. But these macro-level stories
usually are not told from the perspective of
the tacro-level participants, becanse
whole orgamizations cannot narrate their
experiences in the first person.

a More generally, data concerning the
identities  and relationships of the
characters in the story are required, if
one 18 to understand role structure and

fl.

social networks in which that process
15 embedded.

b, Personification of a whole
Organization abstracts away from the
particular actors and from traditional
notions of level of analyss.

c. The personification of a  whaole
orgatization 13 impottant  because
stories differ depending on who is
enachng warious events.

d. Ewery story iz told from /& particular
point  of wew, with @ patficular
narrative voice, whisgh 18 notiregarded
as patt of the deep stucture.

e. The personifi€ation ad a  whole
organization 15 \a textbal device we use
to tnake macro<aleVel theories more
compreliEnsihle,

Meverthelesd photographs stll retain some

of #18 magicdl allure that the earliest

daguerrecfypes inspired. As objects our
fihotegeaphs hawve changed; they have
bechme physically flimsier as they have
hegotne tnote technologically
sophisticated. Daguerre produced pictures
ot copper plates; today many of our
photographs never hecome tangihle things
hut instead reman  filed away  on
computers and cameras, pat of the digital
ether that envelops the modern wotld At
the same time, our patence for the
creatton of images has aso  eroded

Children today are used to heing tracked

from hirth by digital cameras and wdeo

recorders and they expect to see the remlts
of their poszes and performances instantly.

The space between life as it 15 being lived

and life az 1t 15 being displayed shrinks to a

mere second.

a TYet, despite these technical
developments, photographs still remain
powerful because they are reminders of
the people and things we care about.

h. Images, after all, are surrogates carried
into hattle by a soldier or by a traveler
on holiday.

c. Photographs, be they digital or
traditional, exist to remind us of the
ghsent, the beloved, and the dead.

d. Inthe new era of the digital inage, the
images alzo have a greater potential for
fostering  falsehood and  trickery,




perpetuating fictions that seem so rea
we cannot tell the difference.

e Anyway, human natwe heing what it
15 little time has passed after
photography’ s invention  became
means of iving life through images.

fid. Ima Ramotswe had a detective agency in

Africa, af the foot of Kgale Hill These
were 1tz assets: a tny white wan, two
desks, two chairs, a telephone, and an old
typewnter. Then there was a teapot, in
which Mma Ramotswe - the only private
lady detective in Botswana - hrewed red
hush tea. And three mugs - one for hersel £
one for her secretary, and one for the
client. What else does a detective agency
really need? Detective agencies rely on
human intuition and intelligence, both of
which Mma Ramotswe had in abundance.

a Bin there was dso the wiew, which
again would appear on no inventoty.

h. Mo inventory would ever, include
those, of course.

o She had an intelligent secretaty too.

d. She was a good detective and a good
WOTTan.

e. What she lacked in possessions was
tnore than made up by a natura
shrewdness

DIRECTIONS for guestions 63_to 65: The
passage given below iz followed by a sef ofthree
gquestions. Choose the most apgropaiate ahswer to
each question.

To discover the rel ation hetween niles, paradigmes,
and normal science, considesy first how the
historian  isolates  thew, patticular  loo  of
commitment thathawe been descnibed as accepted
rules. Close Justomical inwestigaton of a given
specialty at &) giwen time discloses a set of
recurrent afil, Soguasi-standard  illustrations  of
variogsth edries 1h their conceptual, oheervatonal,
and instrimental applications. These are the
comigty’ s paradigms, reveaed in its texthools,
lectures, and laboratory exercses. By studving
them and by practicing with them, the members of
the corresponding community learn their trade.
The historian, of course, will discover in addition
a penumnbral area occupied by achievements
whose status 15 stll in doubt, but the core of
solved problems and technigques will usuvally be
clear. Despite occasonal  ambigwmties  the

paradigms of a mature scientific communty can
be determined with relative ease.

That demands a second step and one of a
somewhat different lkind When Undertalang it,
the histonian must compare the commumty’s
paradigms wath each other and wath its current
research reports. In doing so, his object 13 to
discover what isolabhle elements, explicit or
implicit, the members of that community may
have ahstracted from their more global paradigms
and deploy 1t as rules in their reseapfhl Anvohe
who has attempted to describe ofVanalvge the
evolution of a particular scientfigytradition wall
necessarily hawe sought accepfed pihciples and
riles of this sort. Almosteertaaly, be will have
met with at least partial suceess. But if his
experience has been at allflike my own, he will
have found the seassh for rules both more diffi cult
and less satisfifig than the search for paradigms.
Some of the ‘géneralizations he employs to
describe the commmunity’s shared heliefs  will
present_tnoge prohlems Cthers, howewver, waill
seerd a shade too strong. Phrased in just that way,
afrin d@ny other way he can imagine, they would
dinost “eertainly have been rejected by some
memhers of the group he studies. Nevertheless, 1f
thie, coherence of the research tradition 1s to be
understood in terms ofrules, some specification of
comtnon ground in the corresponding area is
needed. &z aresult, the search for a body of rules
competent to consttute a given normal research
tradition hecomes a source of continual and deep
frustration.

Fecognizing that frustration, however, takes it
possible to diaghose its source. Scientists can
agree that a Newton, Lawoisier, DMMazwell, or
Einstein has produced an apparently permanent
solution to a group of outstanding problems and
still disagree, sometimes without heing aware of
it, about the particular abstract characteristics that
malke those solutions permanent.

They cah, that 15, agree in their identification of a
paradigm without agreeing on, or even attempting
to  produce, a  full interpenetration  or
ranonalization of it Lack of a standard
interpretation or of an agreed reduction to rules
will not prevent a paradigm from guding
research. Normal science can be determined in
part by the direct inspection of paradigms, a
process that 15 often aided by but does not depend
upon the formulation of rules and assumption
Indeed, the existence of a paradigm need not even
inply that any full set of rules exists.




63.  What 15 the author attempting to illustrate
through this passage?

a Relationships between tules,
paradigms, and normal science

b. How a histornan would 1solate a
particular ‘loc of commitment”

t. How a set of shared beliefs ewolves
into aparadigm

d. Ways of understanding a scientific
tradition

g. The frustrations of attempting to define
a paradigm of atradition

6i4.  The term loct of commitment’ as used in
the paszsage would most likely correspond
with which of the following?

a Lovaty between a group of scientists
it aresearch laboratory

h. Loyalty between groups of scientists
across research laboratories

c. Loyaty to a certan paradigm of
scientificinguiry

d. Loyalty to evolwing trends of scientific
T uity

65 The author of this passage is likely to
agree with which ofthe following?

a Paradigms almost entirely define a
scientific tradition.

b, A group of scentists investgabfis a
phenomenon would henefit by defuding
a set of rules.

o Acceptance by the giants%efatradition
15 a sine gqua non fpfea paradiom to
Efmerge.

d. Choice of isolaflen o mechanism
determines thetype of paradigm that
tay emerdéfiotn a tradition.

e. Paradigns ate a'general representation
of rules afmd vbeliefs of a scientific
traditian.

DIRECTIONS for questions 66 to 68: In each
questi on, there are four sentences. Each sentence
has Pairs of words'phrases that are italicized and
highlighted. From the italicized and highlighted
word (siphrase (5), select the most appropriate
word (s)iphrase () to form correct szentences.
Then, from the options given, choose the best one.

66.  The cricket council that was [4A] [ were [B]
elected last March is [Alfare [B] at sixes
and sevens over new rules.

The critics censored [A]fcensured [B] the
new movie becanse of its  socal
unacceptahility.

Amit’s  explanation for  missing  the
meeting was credulous [A]fcredible [B].
She coughed discreetly falidiscretely [B]

to announce her presence.

a BBAAA
b AMABRA
c. BEEEBA
d AABBA
e. BEBAA

67 The further [A] I farther [E)} he pushed
himself the more digillugioned he grew.
For the crowds 1tffvas more of a historical
[4] T histonic [B] ewent/dor their leader, it
was just another day.
The old fnanchas S healthy distrust [4] I
i strust [B] for all new technology. Thus
filrd 15 based"®n a real [A] f true [B] story.
Onedsuspects that the compliment [&] T
cotuplemnent [B] was backhanded.

a ABAB

B ABBBA
c. BAABRA
d BBEAAPR
e, ABABA

g, Fegrettably [4] / Eegretfully [BJ [ have to
decline vour invitation.
I am drawn to the poetic, sensual [A] f
senauons IB] quality ofher paintings.
He was besides £ A] / beside [B] himself
with rage when I told him what [ had done.
After brushing against a stationary [4] 1
stationery [B] truck my car turned turtle,
Azthe water began to rise over [A] I above
[B] the danger mark the signs of an
imminent flood were clear.

a BAaABRA
h. BBAB

co AAABA
d BBAABR
e. BABAB

DIRECTIONS for questions 62 to 71 The
passage given below 15 followed by a set of three
questions. Choose the most appropn ate answer to
each question.

The difficulties historians face in establishing
cause-and-effect rel ations in the history of human
societies are broadly similar to the difficulties
facing  astronomers, climatologists, ecologists,




evolutionary  hologsts, geologists, and
paleontologists. To varying degrees each of these
fields 15 plagued by the impossihility of
performing  replicated, controlled expenmental
interventions, the complexity arsing  from
enormous numbers of wvariables, the resulting
unigqueness of each  system, the consequent
impossihility of formulating universal laws, and
the difficulties of predicting emergent properties
and future hehawviour. Prediction in history, as in
other historical sciences 13 tost feasible on large
spatial scales and over long times, when the
unigque features of mullions of small-scale bnef
events become averaged out Just as [ could
predict the zex ratio of the next 1,000 newhorns
hut not the sexes of my own two children, the
historian can  recognize factors  that made
inevitable the broad outcome of the collision
hetween American and Eurasian societies after
13,000 years of separate developments, but not the
outcome of the 1960 U35 presdentia election.
The detailz of which candidate said what during a
single televised debate in October 1960 could
have given the electoral wctory to Mizon instead
of to Kennedy, but no detals of who said what
could have blocked the European conguest of
Native Amercans.

How can students of human history profitefiam
the experience of scientists in other histosical
soences? A methodology that has prowed dseful
involves the comparative method and so-called
natural expeniments. While neither asftonomers
studyving galawy formation nof human Mstorans
can  matipulate their systerng i controlled
lahoratory  experiments,Q they both can  take
advantage of natural @xzpetimefits, hy comparing
systems differing in thesprésence or ahsence (or in
the strong or weakineffect) of some putative
causative facfbs, For example epidemiologists,
forbiddereto feed Parge amounts of sdt to people
expenimentallyp have shll been able to i1dentify
effects'af high salt intake by comparing groups of
hgtnansywho! already differ greatly in ther salt
intakeNand cultural anthropologists unahle to
provide  human  groups  expenmentally  with
varying resource abundances for many centuries,
siill  study  long- term  effects of resource
shundance on human societies by comparing
recent Polynesian populations living on islands
differing naturally in resource ahundance.

The student of human history can draw on many
more natiral experiments than just comparisons
among the five inhabited continents. Comparisons

can also utilize large 1slands that have developed
complex societies 1n a considerable degree of
izolation (such as Japan, Madagascar, MNative
American Hispaniola, New Guinea Hawati, and
tnaty others), as well as societies” on hundreds of
smaller, 1slands and regional societies within each
of the continents. MNatural experiments in any
field, whether 1n ecology or human history, are
inherently open to  potential methodological
criticisms. Those include confounding effects of
natural variation in additional vanables, besides
the one of interest, as well as Qprobletas 1n
inferring chans of causatonefom iy observed
correl ations between wrariahles. Such
methodological problems bewe Been dizcussed in
great detail for some of the histarical scences. In
particul a, epidemiology, the sdence of drawing
inferences about human diseases by comparing
groups of peopl & {often by retrospective historical
studies), has Tof a/long tme successfully
empl oved formalized procedures for dealing with
problems Sitrilar to those facing histonians of
humén sogieties

Itp shott, I acknowledge that it 15 much more
difficultwto understand human history than to
understand problems in fields of science where
history 15 unimportant and where fewer indisndual
variahles  operate.  Mevertheless,  successful
methodologies for analyzing historical problems
have heen worked out in several fields As a
result, the lustories of dinosaurs, nebulae, and
glaciers are generally acknowledged to helong to
fields of & science rather than to the humanities.

69, Why do islands wath considerable degree
of 1solation provide waluable insights into
human historsy?

a Izolated islands may evolve differently
atd this differenceis of interest to us.

b, Isolated 1slands increase the number of
ohzervations available to bistorians.

c. Izolated islands, differing in  their
endowments and size may evolve
differently and thus difference can be
attributed to their endowments and
SIZE.

d. Izolated islands, differing in  their
endowments and size, provide a good
comparison to large islands such as
Eurasia  Aftica  Americas and
Australia




0.

1.

.

Izolated 1slands, in so far as they are
inhahited, arouse cunosity ahout how
human heings evolved there.

According to the author, why 15 prediction
difficult in history?

a

b.

Historical explanations are usually
hroad zo that no prediction 12 possihle.
Historical outcomes depend upon a
large number of factors and hence
prediction 1z di ficult for each case.
Historical sciences, hy  their wery
nature, are not interested 1n a multitude
of munor factors, which tmight he
important in a  specific  historical
outcotne.

Historians are interested in evolution
of human history and hence are only
interested in long-term predictions.
Historical sciences suffer from the
tnahility  to conduct  controlled
experiments  and  therefore  hawve
explanations hased on a few long-term
factors.

According to the author, which of the
following statements would be true?

a

Students of history  are  tnissing
significant  opportunities by nof
conducting any natural expentents.
Complex societies inhahiting’ |arge
tslands provide great opportenit és for
natural experiments.

Students  of history  are| mmifsing
significant  opportiimutes by not
studying an adequatesariety of natural
expenments

A unique problem fédeed by historians
15 their inabiliby to establish cause and
effect telahanships

Cudtural anthropologists hawe
overgotfe the problemn of confounding
vatighles through natural experiments.

DIRECTION for guestions 72 to 75: In each
questiofyy there are five sentencesfparagraphs. The
sentencefparagraph labeled & 15 1n its correct
place. The four that follow are labeled B, C, D and
E, and need to he arranged in the logical order to
form a coherent paragraphipassage. From the
given options, choose the most appropriate option

T2

& In America, highly educated women,

who are in stronger position in the

T3,

(5 =T R

. The contrasting,

labour market than less qualified ones,
have higher rates of marriage than
other groups.

Some work supports the Becker thesis,
and some appears to contradict 1t

And, as with cnme, 1t 1z equally
inconclusive

. Butregardless of the concluson of any

particular piece of work, 1t 15 hard to
establish  conwincing  cofmectons
hetween family changes ad seonomic
factors using conventionallapprodehes.
Indeed, jqust as geithy crime, an
enormous academic literatire exists on
the walidity of the Spufe economic
approach to the evflution of family
structures.

BCDE

DEEC

BEDCE

ECED

EECD

FPersonal experience of mothenng and
mothethood are largely framed in
relation to two discernible or “official”
dizcourses: the “medical discourse and
natural childbirth discourse”. Both of
these tend to focus on the “optimistic
stories” of birth and mothenng and
underpin  stereotypes of the “good
mother”.

At the same time, the need for medical
expert guidance iz also a feature for
conternp orary reproduct on and
motherhood. But constructions of good
mothering have not aways bheen so
conceived - and in different contexts
tmay exist in paralel to other equally
dotmnant discourses.

Similarly, historical work has shown
how what are now taken-for-granted
aspects of reproduction and mothenng
practices result from  contemporary
“pseudoscientific  directives”  and
“managed constructs”. These changes
have led to a reframng of modern
discourses that pattern pregnancy and
moth ethood leading to an acceptance
of the need for ogreater expert
managetn ent.

overlapping, and
within  these

ambiguous  strands




4.
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frameworks focus to varving degrees
on a woman's hological tie to her
child and predisposition to
instinctively know and he shle to care
for her child.

In addition, a third, “unofficial popular
dizcourse” compnsing “old  wives”
taes and based on  maternal
experiences of childhirth has also heen
noted. These discourses have also been
acknowledged in work explonng the
experiences of those who apparently
do not “conform” to conventional
sterentypes of the “good mother”
ELEBC
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EDCE

ECDE

Indonesia has experienced dramatic
shiftz: in 1tz forma  govemnance
arrangements since the fall of President
Soeharto  and  the «close of lis
centralized, authoritanan “Mew Crder™
regifne in 1997

The political system has taken its plage
in the nearly 10 yvears since Reformas
hegan It has featured the actve/onbest
for  political  office  among A
proliferation of parties  af- cented,
provinca and district lewels; “direct
elections for the grezsdency (since
2004y and radical ‘chénges in centre-
local government rel@ibons  towards

administrative, \fiscal, and political
decentral1zation.

The ase, media once tidily under
Soeharte’s thumb, has expenenced

sigmifident liberalization, as has the
Iegal\y haziz  for non-governmental
Organizations including many
dedicated to such controversial issues
as corruption control and human nghts.
Such  developments  are  seen
optitnd stically by a number of donors
and some external analysts,  who
interpret, them as signs of Indonesia’s
political normalization.

4 different group of analysts paint a
picture in which the institational forms
have changed, bhut power relations
have not Vedi Hadiz argues that

75,
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Indonesia’s “democratic transition”™ has
heen anything hut linear.
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[ had six thousand acres of lamd, and
had thus got much spare land bestdes
the coffee plantation. Patof the farm
was native forest, and “ahout” one
thouzand acres wefe squattess” land,
what the Kilmyu called their shambas.

. The squatters"fland wasmore intensely

alive than the rest of the farm, and was
changing with the seasons the vear
roundd The maide grew up higher than
vour bedd advou walked on the narrow
frard -tratpled footpaths in between the
tall oreen rustling regiments.
The"squatters are MNatwves, who with
their families hold a few acres on a
white man’s farm, and in return have
to work for hitn a cettan rumber of
days in the vear. My squatters, T thinls,
saw the relationship in a different light,
for many of them were born on the
farmm, and their fathers before them
and they very likely regarded e as a
sort of superior sguatter on their
estates.

The EKikuyu aso grew the sweet
potatoes that have a wine like leaf and
spread over the ground like a dense
entangled mat, and many warieties of
bhig  vwellow and green speckled
pumplans.

The heans ripened in the fields, were
gathered and thrashed by the wommen,
and the tnaize stalks and coffee pods
were collected and burned, so that in
certain seasons thin blue columns of
smoke rose here and there all over the
farm.

CEDE

ECDE
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